



## Existence and uniqueness of positive and nondecreasing solution for nonlocal fractional boundary value problem

**Rahmat Darzi\***

Department of Mathematics, Neka Branch,  
Islamic Azad University, Neka, Iran.  
E-mail: r.darzi@iauneka.ac.ir

**Bahram Agheli**

Department of Mathematics, Qaemshahr Branch,  
Islamic Azad University, Qaemshahr, Iran.  
E-mail: b.agheli@qaemshahriau.ac.ir

---

**Abstract** In this article, we verify the existence and uniqueness of a positive and nondecreasing solution for nonlinear boundary value problem of fractional differential equation in the form

$$D_{0+}^{\alpha} x(t) + f(t, x(t)) = 0, \quad 0 < t < 1, \quad 2 < \alpha \leq 3,$$
$$x(0) = x'(0) = 0, \quad x'(1) = \beta x(\xi),$$

where  $D_{0+}^{\alpha}$  denotes the standard Riemann-Liouville fractional derivative,  $0 < \xi < 1$  and  $0 < \beta \xi^{\alpha-1} < \alpha - 1$ . Our analysis relies on the fixed point theorem in partially ordered sets. An illustrative example is also presented.

---

**Keywords.** Boundary value problem, Fixed point theorem, Partially ordered set, Positive solution, non-decreasing solution.

**2010 Mathematics Subject Classification.** 26A33, 34A12.

### 1. INTRODUCTION

In recent years, fractional calculus is one of the interesting issues that have attracted the attention of many scientists, specially in mathematics and engineering sciences. Many natural phenomena can be presented by boundary value problems of fractional differential equations. Many authors in different fields such as chemical physics, fluid flows, electrical networks, viscoelasticity, try to model the phenomena by boundary value problems of fractional differential equations [1-4]. In order to achieve extra information in fractional calculus, specially boundary value problems, the reader can refer to more valuable papers or books that are written by authors

---

Received: 14 September 2015 ; Accepted: 2 April 2016.

\* corresponding Author.

[5-26].

Bai [17] discussed the existence of positive solutions for the BVP

$$\begin{aligned} D_{0+}^{\alpha} u(t) + f(t, u(t)) &= 0, \quad 0 < t < 1, \quad 1 < \alpha \leq 2, \\ u(0) &= 0, \quad D^{\alpha-1} u(1) = \beta u(\eta), \quad 0 < \eta < 1, \end{aligned}$$

where  $\alpha$  is a real number,  $0 < \beta \eta^{\alpha-1} < 1$  and  $D_{0+}^{\alpha}$  denotes Riemann-Liouville fractional derivative.

In [14], Zhang used some fixed point theorems on cones to verify the existence of a positive solution for the equation

$$D_{0+}^{\alpha} u(t) + f(t, u(t)) = 0, \quad 0 < t < 1, \quad 1 < \alpha \leq 2,$$

with the boundary conditions  $u(0) + u'(0) = u(1) + u'(1) = 0$ .

El-Shahed [27] studied the existence and nonexistence of positive solutions to the following nonlinear FDE

$$D_{0+}^{\alpha} u(t) + \lambda f(u(t)) = 0, \quad 0 < t < 1, \quad 2 < \alpha \leq 3,$$

along with boundary conditions  $u(0) = u'(0) = u'(1) = 0$ , where  $D_{0+}^{\alpha}$  denotes standard Riemann-Liouville fractional derivative.

In this paper, which is motivated by paper [23], we investigate the existence and uniqueness of a positive and nondecreasing solution for a nonlocal boundary value problem for fractional differential equation of the form

$$D_{0+}^{\alpha} x(t) + f(t, x(t)) = 0, \quad 0 < t < 1, \quad 2 < \alpha \leq 3, \quad (1.1)$$

$$x(0) = x'(0) = 0, \quad x'(1) = \beta x(\xi), \quad (1.2)$$

where  $D_{0+}^{\alpha}$  denotes standard Riemann-Liouville fractional derivative,  $0 < \xi < 1$ ,  $0 < \beta \xi^{\alpha-1} < \alpha - 1$ , and  $f \in C([0, 1] \times [0, \infty), [0, \infty))$ . The main approach is based upon a fixed point theorem in partially ordered sets.

## 2. BACKGROUND MATERIALS AND PRELIMINARIES

We now give definitions, lemmas and theorems that will be used in the remainder of this paper.

**Definition 2.1.** ([7,8]) The Riemann-Liouville fractional integral of order  $\alpha > 0$ , of a function  $x : \mathbb{R}^{>0} \rightarrow \mathbb{R}$  is defined by

$$I_{0+}^{\alpha} x(t) = \frac{1}{\Gamma(\alpha)} \int_0^t (t-s)^{\alpha-1} x(s) ds, \quad n-1 < \alpha \leq n, \quad (2.1)$$



provided that right-hand side is point wise defined on  $\mathbb{R}^{>0}$ .

**Definition 2.2.** ([7,8]) The Riemann-Liouville fractional derivative of order  $\alpha > 0$ , of a function  $x : \mathbb{R}^{>0} \rightarrow \mathbb{R}$  is given by

$$D_{0+}^{\alpha}x(t) = \frac{1}{\Gamma(n-\alpha)} \left(\frac{d}{dt}\right)^n \int_0^t (t-s)^{n-\alpha-1} x(s) ds, \quad n-1 < \alpha \leq n. \quad (2.2)$$

**Lemma 2.3.** ([7,8]) Let  $x \in C(0,1) \cap L(0,1)$ . Then fractional differential equation  $D_{0+}^{\alpha}x(t) = 0$  has

$$x(t) = a_1 t^{\alpha-1} + a_2 t^{\alpha-2} + \dots + a_n t^{\alpha-n}, \quad a_i \in \mathbb{R}, \quad i = 1, \dots, n, \quad n = [\alpha] + 1, \quad (2.3)$$

as a unique solution.

**Lemma 2.4.** ([7,8]) Let  $x \in C(0,1) \cap L(0,1)$  with a fractional derivative of order  $\alpha > 0$  that belongs to  $C(0,1) \cap L(0,1)$ . Then

$$I_{0+}^{\alpha} D_{0+}^{\alpha} x(t) = x(t) + a_1 t^{\alpha-1} + a_2 t^{\alpha-2} + \dots + a_n t^{\alpha-n}, \quad (2.4)$$

for some  $a_i \in \mathbb{R}$ ,  $i = 1, \dots, n$ ,  $n = [\alpha] + 1$ .

**Theorem 2.5.** ([28]) Assume that  $(K, \leq)$  be a partially ordered set. Suppose that there exists a metric  $d$  in  $K$  so that  $(K, d)$  is a complete metric space satisfying the following condition:

$$\text{if } (u_n) \text{ is a nondecreasing sequence in } K \text{ s.t } u_n \rightarrow u, \text{ then } u_n \leq u, \quad \forall n \in \mathbb{N}. \quad (2.5)$$

Let  $T : K \rightarrow K$  be a nondecreasing mapping so that

$$d(Tu, Tv) \leq d(u, v) - \varphi(d(u, v)),$$

where  $\varphi : \mathbb{R}^{\geq 0} \rightarrow \mathbb{R}^{\geq 0}$  is a continuous and nondecreasing function such that  $\varphi$  is positive in  $\mathbb{R}^{>0}$ ,  $\varphi(0) = 0$  and  $\lim_{t \rightarrow \infty} \varphi(t) = \infty$ . If there exists  $u_0 \in K$  with  $u_0 \leq Tu_0$ , then  $T$  has a fixed point.

**Theorem 2.6.** ([28]) Assume that hypotheses of Theorem 2.5 are satisfied. Suppose that  $(K, \leq)$  satisfies the following condition:

$$\text{for } x, y \in K \text{ there exists } z \in K \text{ which is comparable to } x \text{ and } y. \quad (2.6)$$

Then, the fixed point is unique.

**NOTE.** In this paper, we use real Banach space  $K = C[0,1]$  with the norm  $\|u\| = \max_{t \in [0,1]} \{u(t)\}$ . This space can be equipped with a partial order given by

$$u, v \in C[0,1], \quad u \leq v \Leftrightarrow u(t) \leq v(t), \quad t \in [0,1].$$



Nieto and Rodriguez [29] proved  $(K, \leq)$  with the metric  $d(u, v) = \sup_{t \in [0, 1]} \{|u(t) - v(t)|\}$  satisfied condition (2.5). Also, for  $u, v \in C[0, 1]$  if  $\max\{u, v\} \in K$ , then,  $(K, \leq)$  satisfies condition (2.6).

**Lemma 2.7.** *Assume that  $0 < \xi < 1$ ,  $\frac{\alpha-1}{\beta} \neq \xi^{\alpha-1}$  and  $g(t) \in C[0, 1]$ . Then, fractional boundary value problem*

$$D_{0+}^{\alpha} x(t) + g(t) = 0, \quad 0 < t < 1, \quad 2 < \alpha \leq 3, \quad (2.7)$$

$$x(0) = x'(0) = 0, \quad x'(1) = \beta x(\xi), \quad (2.8)$$

has a unique solution

$$x(t) = \int_0^1 G_1(t, s)g(s)ds + \frac{\beta t^{\alpha-1}}{\alpha-1-\beta\xi^{\alpha-1}} \int_0^1 G_2(\xi, s)g(s)ds, \quad (2.9)$$

where

$$G_1(t, s) = \frac{1}{\Gamma(\alpha)} \begin{cases} t^{\alpha-1}(1-s)^{\alpha-2} - (t-s)^{\alpha-1}, & 0 \leq s \leq t \leq 1, \\ t^{\alpha-1}(1-s)^{\alpha-2}, & 0 \leq t \leq s \leq 1, \end{cases} \quad (2.10)$$

$$G_2(\xi, s) = \frac{1}{\Gamma(\alpha)} \begin{cases} \xi^{\alpha-1}(1-s)^{\alpha-2} - (\xi-s)^{\alpha-1}, & 0 \leq s \leq \eta \leq 1, \\ \xi^{\alpha-1}(1-s)^{\alpha-2}, & 0 \leq \eta \leq s \leq 1, \end{cases} \quad (2.11)$$

*Proof.* Lemma 2.4 guarantees that

$$x(t) = a_1 t^{\alpha-1} + a_2 t^{\alpha-2} + a_3 t^{\alpha-3} - I_{0+}^{\alpha} g(t). \quad (2.12)$$

From boundary conditions (2.8), we obtain  $a_2 = a_3 = 0$  and

$$a_1 = \frac{\alpha-1}{\Gamma(\alpha)(\alpha-1-\beta\xi^{\alpha-1})} \int_0^1 (1-s)^{\alpha-2} g(s)ds - \frac{\beta}{\Gamma(\alpha)(\alpha-1-\beta\xi^{\alpha-1})} \int_0^{\xi} (\xi-s)^{\alpha-1} g(s)ds.$$

Substituting  $a_1, a_2$  and  $a_3$  into (2.12), we get

$$\begin{aligned} x(t) &= -\frac{1}{\Gamma(\alpha)} \int_0^t (t-s)^{\alpha-1} g(s)ds + \frac{(\alpha-1)t^{\alpha-1}}{\Gamma(\alpha)(\alpha-1-\beta\xi^{\alpha-1})} \int_0^1 (1-s)^{\alpha-2} g(s)ds \\ &\quad - \frac{\beta t^{\alpha-1}}{\Gamma(\alpha)(\alpha-1-\beta\xi^{\alpha-1})} \int_0^{\xi} (\xi-s)^{\alpha-1} g(s)ds. \end{aligned}$$



Thus, the unique solution of FBVP (2.7)-(2.8) is

$$\begin{aligned}
 x(t) &= \frac{-1}{\Gamma(\alpha)} \int_0^t (t-s)^{\alpha-1} g(s) ds + \frac{t^{\alpha-1}}{\Gamma(\alpha)} \left( \int_0^t (1-s)^{\alpha-2} g(s) ds + \int_t^1 (1-s)^{\alpha-2} g(s) ds \right) \\
 &+ \frac{\beta t^{\alpha-1}}{\Gamma(\alpha)(\alpha-1-\beta\xi^{\alpha-1})} \left( \xi^{\alpha-1} \int_0^1 (1-s)^{\alpha-2} g(s) ds - \int_0^\xi (\xi-s)^{\alpha-1} g(s) ds \right) \\
 &= \frac{1}{\Gamma(\alpha)} \int_0^t [t^{\alpha-1}(1-s)^{\alpha-2} - (t-s)^{\alpha-1}] g(s) ds + \frac{1}{\Gamma(\alpha)} \int_t^1 t^{\alpha-1}(1-s)^{\alpha-2} g(s) ds \\
 &+ \frac{\beta t^{\alpha-1}}{\Gamma(\alpha)(\alpha-1-\beta\xi^{\alpha-1})} \int_0^\xi [\xi^{\alpha-1}(1-s)^{\alpha-2} - (\xi-s)^{\alpha-1}] g(s) ds \\
 &+ \frac{\beta t^{\alpha-1}}{\Gamma(\alpha)(\alpha-1-\beta\xi^{\alpha-1})} \int_\xi^1 \xi^{\alpha-1}(1-s)^{\alpha-2} g(s) ds \\
 &= \int_0^1 G_1(t,s) g(s) ds + \frac{\beta t^{\alpha-1}}{\alpha-1-\beta\xi^{\alpha-2}} \int_0^1 G_2(\xi,s) g(s) ds.
 \end{aligned}$$

The proof is complete. □

**Lemma 2.8.** *The function  $G_1(t, s)$  is nonnegative and continuous function.*

*Proof.* It is easy to see that  $G_1$  is continuous. Now, we show that  $G_1(t, s) \geq 0$ .

Case 1.  $s = 1$ . Obviously  $G_1(t, 1) = 0$

Case 2. For  $0 \leq t \leq s \leq 1$ , it is clear that  $G_1(t, 1) = t^{\alpha-1}(1-s)^{\alpha-2} \geq 0$ .

Case 3. For  $0 \leq s \leq t \leq 1$ , we have

$$\begin{aligned}
 G_1(t, s) &= \frac{1}{\Gamma(\alpha)} [t^{\alpha-1}(1-s)^{\alpha-2} - (t-s)^{\alpha-1}] \\
 &= \frac{1}{\Gamma(\alpha)} [t^{\alpha-1} \frac{(1-s)^{\alpha-1}}{(1-s)} - (t-s)^{\alpha-1}] \\
 &\geq \frac{1}{\Gamma(\alpha)} [t^{\alpha-1}(1-s)^{\alpha-1} - (t-s)^{\alpha-1}] \\
 &= \frac{1}{\Gamma(\alpha)} [(t-ts)^{\alpha-1} - (t-s)^{\alpha-1}] \geq 0.
 \end{aligned}$$

Thus, the lemma is proved. □

**Lemma 2.9.** *For  $G_1$  and  $G_2$ , the following relations are satisfied, respectively,*

$$\text{(i)} \sup_{t \in [0,1]} \int_0^1 G_1(t, s) ds = \frac{1}{(\alpha-1)\Gamma(\alpha+1)}, \quad \text{(ii)} \int_0^1 G_2(\xi, s) ds = \frac{\xi^{\alpha-1}}{\Gamma(\alpha)} \left( \frac{1}{\alpha-1} - \frac{\xi}{\alpha} \right).$$



*Proof.* (i) We have

$$\begin{aligned}\int_0^1 G_1(t, s) ds &= \frac{1}{\Gamma(\alpha)} \left\{ \int_0^t t^{\alpha-1} (1-s)^{\alpha-2} ds - \int_0^t (t-s)^{\alpha-1} ds + \int_t^1 t^{\alpha-1} (1-s)^{\alpha-2} ds \right\} \\ &= \frac{1}{\Gamma(\alpha)} \left\{ \frac{t^{\alpha-1}}{\alpha-1} - \frac{t^\alpha}{\alpha} \right\}.\end{aligned}$$

Let us set

$$k(t) = \frac{1}{\Gamma(\alpha)} \left\{ \frac{t^{\alpha-1}}{\alpha-1} - \frac{t^\alpha}{\alpha} \right\}.$$

Then, as

$$k'(t) = \frac{1}{\Gamma(\alpha)} \{ t^{\alpha-2} - t^{\alpha-1} \} > 0,$$

$k(t)$  is strictly increasing and this follows that

$$\sup_{t \in [0,1]} \int_0^1 G_1(t, s) ds = k(1) = \frac{1}{(\alpha-1)\Gamma(\alpha+1)}.$$

(ii) We have

$$\begin{aligned}\int_0^1 G_2(\xi, s) ds &= \frac{1}{\Gamma(\alpha)} \left\{ \int_0^\xi \xi^{\alpha-1} (1-s)^{\alpha-2} ds - \int_0^\xi (\xi-s)^{\alpha-1} ds + \int_\xi^1 \xi^{\alpha-1} (1-s)^{\alpha-2} ds \right\} \\ &= \frac{\xi^{\alpha-1}}{\Gamma(\alpha)} \left( \frac{1}{\alpha-1} - \frac{\xi}{\alpha} \right).\end{aligned}$$

Therefore, the proof is completed.  $\square$

**Lemma 2.10.** *The function  $G_1(t, s)$  is strictly increasing with respect to the first component.*

*Proof.* We assume that

$$g_1(t) = \frac{1}{\Gamma(\alpha)} [t^{\alpha-1} (1-s)^{\alpha-2} - (t-s)^{\alpha-1}], \quad s \leq t,$$

$$g_2(t) = \frac{1}{\Gamma(\alpha)} t^{\alpha-1} (1-s)^{\alpha-2}, \quad t \leq s,$$

where  $s$  is fixed. For  $s \leq t$ , we have

$$\begin{aligned}g_1'(t) &= \frac{1}{\Gamma(\alpha)} [(\alpha-1)t^{\alpha-2} (1-s)^{\alpha-2} - (\alpha-1)(t-s)^{\alpha-2}] \\ &= \frac{1}{\Gamma(\alpha-1)} [(t-ts)^{\alpha-2} - (t-s)^{\alpha-2}] \geq 0.\end{aligned}$$

Then,  $g_1(t)$  is strictly increasing on  $[s, 1]$ . On other hand, for  $0 \leq t_1 < t_2 \leq s$ , it is easy to see that  $g_2(t_1) < g_2(t_2)$  and so,  $g_2(t)$  is strictly increasing on  $[0, s]$ . Therefore,



when  $t_1 < t_2 \leq s$ , and  $s \leq t_1 < t_2$ , we have  $G_1(t_1, s) < G_1(t_2, s)$ . Now, we show that in the case  $t_1 \leq s \leq t_2$  with  $t_1 < t_2$ ,  $G_1(t_1, s) < G_1(t_2, s)$ . We have  $g_2(t_1) \leq g_2(s) = g_1(s) \leq g_1(t_2)$ . If  $g_2(t_1) = g_1(t_2)$ , then  $g_2(t_1) = g_2(s) = g_1(s) = g_1(t_2)$  and since  $g_1$  and  $g_2$  are monotone, we conclude that  $t_1 = t_2 = s$ , which contradicts with  $t_1 < t_2$ . Then  $g_2(t_1) < g_1(t_2)$  and this shows that  $G_1(t_1, s) < G_1(t_2, s)$ .  $\square$

### 3. MAIN RESULTS

For convenience of presentation, we now present the following hypothesis to be used in the rest of the paper.

(H<sub>1</sub>)  $f : [0, 1] \times \mathbb{R}^{\geq 0} \rightarrow \mathbb{R}^{\geq 0}$  is a continuous function and nondecreasing with respect to second variable.

(H<sub>2</sub>) There exist  $H \subset [0, 1]$  with  $\mu(H) > 0$  so that  $f(t, x(t)) \neq 0$  for  $t \in H$  and  $x \in \mathbb{R}$ .

(H<sub>3</sub>) There exist  $0 < \gamma < \left( \frac{1}{(\alpha-1)\Gamma(\alpha+1)} + \frac{\beta\xi^{\alpha-1}}{(\alpha-1-\beta\xi^{\alpha-1})\Gamma(\alpha)} \left( \frac{1}{\alpha-1} - \frac{\xi}{\alpha} \right) \right)^{-1}$  such that for  $x, y \in \mathbb{R}^{\geq 0}$ , with  $x \leq y$

$$f(t, x) - f(t, y) \leq \gamma\kappa(x - y), \quad 0 \leq t \leq 1,$$

where  $\kappa(x) = \frac{x}{x+2}$ .

**Theorem 3.1.** *Assume that the hypotheses (H<sub>1</sub>)-(H<sub>3</sub>) hold. Then, the boundary value problem (1.1)-(1.2) has a unique positive and strictly increasing solution  $x(t)$ .*

*Proof.* Consider the cone

$$K = \{x \in C[0, 1] : x(t) \geq 0\}.$$

Since  $K$  is a closed set,  $K$  is a complete metric space with the distance given by

$$d(x, y) = \sup_{t \in [0, 1]} |x(t) - y(t)|.$$

Let us define the operator  $\mathfrak{A} : C[0, 1] \rightarrow C[0, 1]$ , by

$$\mathfrak{A}x(t) = \int_0^1 G_1(t, s)f(s, x(s))ds + \frac{\beta t^{\alpha-1}}{\alpha - 1 - \beta\xi^{\alpha-1}} \int_0^1 G_2(\xi, s)f(s, x(s))ds. \quad (3.1)$$

By Lemma 2.8 and (H<sub>1</sub>), it follows that  $\mathfrak{A}(K) \subseteq K$ .

Now, using Theorems 2.5 and 2.6 and in three steps, we will prove to theorem.

**Step 1. Existence of nonnegative solution.**



By  $(\mathbf{H}_1)$ , for  $x, y \in K$  with  $x \geq y$ , we have

$$\begin{aligned}\mathfrak{A}x(t) &= \int_0^1 G_1(t, s)f(s, x(s))ds + \frac{\beta t^{\alpha-1}}{1 - \beta\xi^{\alpha-2}} \int_0^1 G_2(\xi, s)f(s, x(s))ds \\ &\geq \int_0^1 G_1(t, s)f(s, y(s))ds + \frac{\beta t^{\alpha-1}}{1 - \beta\xi^{\alpha-2}} \int_0^1 G_2(\xi, s)f(s, y(s))ds \\ &= \mathfrak{A}y(t).\end{aligned}$$

This shows that  $\mathfrak{A}$  is nondecreasing operator. Also, for  $x \geq y$ , we have

$$\begin{aligned}d(\mathfrak{A}x, \mathfrak{A}y) &= \sup_{t \in [0,1]} |(\mathfrak{A}x)(t) - (\mathfrak{A}y)(t)| = \sup_{t \in [0,1]} [(\mathfrak{A}x)(t) - (\mathfrak{A}y)(t)] \\ &\leq \sup_{t \in [0,1]} \int_0^1 G_1(t, s)[f(s, x(s)) - f(s, y(s))]ds \\ &\quad + \frac{\beta t^{\alpha-1}}{\alpha - 1 - \beta\xi^{\alpha-1}} \int_0^1 G_2(\xi, s)[f(s, x(s)) - f(s, y(s))]ds \\ &\leq \sup_{t \in [0,1]} \int_0^1 G_1(t, s) \frac{\gamma[x(s) - y(s)]}{x(s) - y(s) + 2} ds \\ &\quad + \frac{\beta}{\alpha - 1 - \beta\xi^{\alpha-1}} \int_0^1 G_2(\xi, s) \left[ \frac{\gamma[x(s) - y(s)]}{x(s) - y(s) + 2} \right] ds.\end{aligned}$$

Using Lemma 2.9 and  $(\mathbf{H}_3)$  and since we know the function  $\kappa(x) = \frac{x}{x+2}$  is nondecreasing, we get

$$\begin{aligned}d(\mathfrak{A}x, \mathfrak{A}y) &\leq \gamma \cdot \frac{\|x - y\|}{\|x - y\| + 1} \left( \sup_{t \in [0,1]} \int_0^1 G_1(t, s)ds + \frac{\beta}{\alpha - 1 - \beta\xi^{\alpha-1}} \int_0^1 G_2(\xi, s)ds \right) \\ &= \gamma \cdot \frac{\|x - y\|}{\|x - y\| + 1} \left( \frac{1}{(\alpha - 1)\Gamma(\alpha + 1)} + \frac{\beta\xi^{\alpha-1}}{(\alpha - 1 - \beta\xi^{\alpha-1})\Gamma(\alpha)} \left( \frac{1}{\alpha - 1} - \frac{\xi}{\alpha} \right) \right) \\ &< \left[ \|x - y\| - \left( \|x - y\| - \frac{\|x - y\|}{\|x - y\| + 1} \right) \right].\end{aligned}$$

Let us set  $\varphi(u) = u - \frac{u}{u+1}$ . It is easy to see that  $\varphi : \mathbb{R}^{\geq 0} \rightarrow \mathbb{R}^{\geq 0}$  is continuous, nondecreasing, positive in  $\mathbb{R}^{> 0}$ ,  $\varphi(0) = 0$  and  $\lim_{u \rightarrow \infty} \varphi(u) = \infty$ . So, for  $x \geq y$ , we have

$$d(\mathfrak{A}x, \mathfrak{A}y) \leq d(x, y) - \varphi(d(x, y)).$$

On the other hand,  $G_1(t, s) \geq 0$  and  $f \geq 0$  yields

$$(\mathfrak{A}0)(t) = \int_0^1 G_1(t, s)f(s, 0)ds \geq 0.$$





Now, all the conditions of Theorem 2.5 are satisfied. Consequently, the BVP (1.1)-(1.2) has at least one nonnegative the solution.

**Step 2. Uniqueness of the solution.**

It is clear that  $(K, \leq)$  satisfies condition 2.6 and so by Theorem 2.6, we conclude the uniqueness of solution.

**Step 3. The solution is strictly increasing.**

As  $x(0) = \int_0^1 G_1(0, s)f(s, x(s))ds$  and  $G_1(0, s) = 0$ , we have  $x(0) = 0$ . We assume that  $t_1, t_2 \in [0, 1]$  with  $t_1 < t_2$ . We distinguish the following cases.

**Case 1.** If  $t_1 = 0$ , then  $x(t_1) = 0$ . We know that  $x(t) \geq 0$ . Assuming  $x(t_2) = 0$ , we get  $G_1(t_2, s)f(s, x(s)) = 0, a.e.(s)$  and since  $G_1(t_2, s) \neq 0$  we have  $f(s, x(s)) = 0, a.e.(s)$ . On the other hand,  $f$  is nondecreasing with respect to the second variable, and so we have  $f(s, 0) \leq f(s, x(s)) = 0, a.e.(s)$ , which contradicts the hypothesis  $(\mathbf{H}_2)$ . Consequently,  $x(t_1) = 0 < x(t_2)$ .

**Case 2.** If  $t_1 > 0$ , then

$$\begin{aligned} x(t_2) - x(t_1) &= (\mathfrak{A}x)(t_2) - (\mathfrak{A}x)(t_1) \\ &+ \int_0^1 [G_1(t_2, s) - G_1(t_1, s)]f(s, x(s))ds \\ &+ \frac{\beta(t_2^{\alpha-1} - t_1^{\alpha-1})}{\alpha - 1 - \beta\xi^{\alpha-1}} \int_0^1 G_2(\eta, s)f(s, x(s))ds. \end{aligned}$$

Now, by Lemma 2.10 and since  $f$  is nonnegative, we get  $x(t_1) = x(t_2)$  and or  $x(t_1) < x(t_2)$ .

Assume that  $x(t_1) = x(t_2)$ . Then

$$\int_0^1 [G_1(t_2, s) - G_1(t_1, s)]f(s, x(s))ds = 0,$$

and this follows that

$$[G_1(t_2, s) - G_1(t_1, s)]f(s, x(s))ds = 0, \quad a.e.(s),$$

and Lemma 2.10 yields

$$f(s, x(s))ds = 0, \quad a.e.(s),$$

which again contradicts the hypothesis  $(\mathbf{H}_2)$ . Thus,  $x(t_1) < x(t_2)$ . Therefore, the proof is completed.  $\square$



## 4. AN EXAMPLE

**Example 4.1.** Consider the boundary value problem

$$\begin{cases} D_{0+}^{\frac{5}{2}}x(t) + \frac{tx+x}{4x+8} = 0, & 0 < t < 1, \\ x(0) = x'(0) = 0, & x'(1) = x(\frac{1}{2}), \end{cases} \quad (4.1)$$

in which  $\beta = 1$ ,  $\xi = \frac{1}{2}$ ,  $f(t, x) = \frac{t+1}{4} \cdot \frac{x}{x+2}$  with

$$f(t, x) - f(t, y) = \frac{t+1}{4} \left( \frac{x}{x+2} - \frac{y}{y+2} \right) < \frac{1}{2} \cdot \frac{x-y}{x-y+2}, \quad x \geq y.$$

Furthermore,

$$\left( \frac{1}{(\alpha-1)\Gamma(\alpha+1)} + \frac{\beta\xi^{\alpha-1}}{(\alpha-1-\beta\xi^{\alpha-1})\Gamma(\alpha)} \left( \frac{1}{\alpha-1} - \frac{\xi}{\alpha} \right) \right)^{-1} \simeq 3.2373 > \frac{1}{2} = \gamma.$$

Thus, the conclusion of Theorem 3.1 applies to problem (4.1).

## REFERENCES

- [1] K.B. Oldham, J. Spanier, *The fractional calculus*, Academic press, New York and London, 1974.
- [2] B. Ross(Ed.), *The fractional calculus and its application, in: Lecture notes in mathematics*, vol.475, Springer-Verlag, Berlin, 1975.
- [3] F.B. Tatom, *The relationship between fractional calculus and fractals*, Fractals 3 (1995) 217-229.
- [4] T.F. Nonnenmacher, R. Metzler, *On the Riemann-Liouville fractional calculus and some recent applications*, Fractals 3 (1995) 557-566.
- [5] S.G. Samko, A.A. Kilbas, O.I. Marichev, *fractional integral and derivatives (theory and application)*, Gordon and Breach, Switzerland, 1993.
- [6] A.A. Kilbas, H.M. Srivastava, J.J. Trujillo, *Theory and application of fractional differential equations*, Elsevier B.V, Netherlands 2006.
- [7] K. S. Miller, B. Ross, *An introduction to the fractional calculus and fractional differential equation*, John Wiley and Sons, New York, (1993).
- [8] I. Podlubny, *Fractional differential equations*, Academic Press, San Diego, CA, (1999).
- [9] V. Lakshmikantham, S. Leela, J. Vasundhara, *Theory of fractional dynamic systems*, Cambridge Academic Publishers, Cambridge, 2009.
- [10] R.P. Agarwal, M. Benchohara, B.A. Slimani, *Existence results for differential equations with fractional order and impulses*, Mem. Diff. Equ. Math. Phys, 44 (2008) 1-21.
- [11] R.P. Agarwal, M. Benchohara, S. Hamani, *Boundary value problems for fractional differential equations*, J. Georgian. Mathd, 16 (2009) 401-411.
- [12] K. Diethelm, *The analysis of fractional differential equations*, Springer-Verlag, Berlin, 2010.
- [13] C. Bai, *Positive solutions for nonlocal boundary value problems of higher order nonlinear fractional differential equations*, Nonlinear. Anal, 64 (2006) 677-685.
- [14] S. Zhang, *Positive solutions for fractional differential equations with coefficient that changes sign*, Electron. J. Differential Equations, 36 (2006) 1-12.



- [15] R. Darzi, B. Mohammadzadeh, A. Neamaty, D. Băleanu, *Lower and upper solutions method for positive solutions of fractional boundary value problems*, Abst. Appl. Anal, (2013), dx.doi.org/10.1155/2013/847184.
- [16] R. Darzi, B. Mohammadzadeh, A. Neamaty, D. Băleanu, *On the Existence and Uniqueness of Solution of a Nonlinear Fractional Differential Equations*, J. Com put. Anal. Appl, 15 (1) (2013) 152-162.
- [17] Z. Bai, *On positive solutions of a nonlocal fractional boundary value problems*, Nonlinear. Anal, 72 (2010) 916-924.
- [18] M. Benchohara, S. Hamani, S.K. Ntouyas, *Boundary value problems for differential equations with fractional order and nonlocal conditions*, Nonlinear. Anal, 71 (2009) 2391-2396.
- [19] J. Caballero Mena, J. Harjani, K. Sadarangani, *Existence and uniqueness of positive and non-decreasing solutions for a class of singular fractional boundary value problems*, bound. value. probl, 2009 (2009) pp.10.doi:10.1155/2009/421310.Article ID 421310.
- [20] S. Zhang, *Existence of solutions for a boundary value problems of fractional order*, Acta. Math. Sci, 26B (2006) 220-228.
- [21] C. Yu, G.Z. Gao, *On the solution of nolinear fractional order differential equation*, Nonlinear. Anal. Theor. Meth. Appl, 63 (1998) 971-976.
- [22] Y. Zhou, *Existence and uniqueness of fractional differential equations with unbounded delay*, Int. J. Dyn. Syst. Differ. Equ, 1 (2008) 239-244.
- [23] S. Liang, J. Zhang, *Positive solutions for boundary value problem of nolinear fractional differential equation*, Nonlinear. Anal, 71 (2009) 5545-5550.
- [24] S. Liang, J. Zhang, *Existence and uniqueness of strictly nondecreasing and positive solution for a fractional three-point boundary value problem*, Comput. Math. Appl, 62 (2011) 1333-1340.
- [25] A.M. Nakhushhev, *The Sturm-Liouville problem of a second order ordinary differential equation with fractional derivatives in the lower terms*, Dokl. Akad. Nauk SSSR, 234 (1997) 308-311.
- [26] C. Yu, G.Z. Gao, *On the solution of nolinear fractional order differential equation*, Nonlinear. Anal. Theor. Meth. Appl, 63 (1998) 971-976.
- [27] M. El-Shahed, J. Zhang, *Positive solutions for boundary value problem of nolinear fractional differential equation*, Abstr. Appl. Anal, (2007) 8 pages. Article ID 10368, doi:10.1155/2007/10368.
- [28] J. Harjani, K. Sadarangani, *Fixed point theorems for weakly contractive mappings in partially ordered sets*, Nonlinear. Anal, 71 (2009) 3403-3410.
- [29] J.J. Nieto, R. Rodriguez-Lopez, *Contractive mapping theorems in pattiially ordered sets and applications to ordinary differential equations*, Order 22 (2005) 223-239.

